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H R E 293 23 270 7.8 92.2
BFEw - TRy 77 56 3 53 5.4 94.6
A AR O 53 5 48 9.4 90.6
INBAE 31 3 28 9.7 90.3
IR AT D, 17 0 17 0.0 100.0
A ARILRE S 8 1 7 12.5 87.5
TR D 7 2 5 28.6 71.4
R R FEN - T RS 2 0 2 0.0 100.0
HETR 13 2 11 15.4 84.6
Al 480 39 441 8.1 91.9
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B iR 5 114 17 97 14.9 85.1
BT - Bk El s 58 9 49 15.5 84.5
NI 20 3 17 15.0 85.0
FrATRD, 18 2 16 11.1 88.9
A AL PES 11 4 7 36.4 63.6
A AKET D2 9 1 8 11.1 88.9
e RFEN -EFEES 3 1 2 33.3 66.7
BT i - T R D2 3 0 3 0.0 100.0
AR D, 2 1 1 50.0 50.0
BIRICB LW R 4 1 3 25.0 75.0
= 242 39 106 16.1 43.8
=1 0 = - - —
EE 242 = - - —
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